
rotal l)ascs : 16 B.A./sth Sern (H)/HIS/22(CBCS)

2022

Sth Semester Examination

HISTORY (Honours)

Paper : DSE 2-T

IcBCSI

Full Marks : 60 Time : 3 Hours

The ./igw"es in the murgin intlicate ./illl murks.

Cantlidutes urc required to give their answers

. in thcir rntn words us .fiu. as pructicable.

I lModern Transformation of ]apan]

Group - A

Answer any /en questions : 2xl0:20

1. Who were the Samurai?

2. Write a shoft note on Daimio.

3. What was the role of Count Ito in the constitution-
making process of Japan?

4. What do you know about the Bakufu?

5. Who was Ito Hirobumi (1841-1909X

6. Write a brief note on the Treaty of Shimonoseki (1895).

PT.O.
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